V=X«
E(0): P(Ves) P[xww] P[Y</L x|




E(a)= P[x-v<a] = P[v-xed] = Plev>-d]

- (- plx-ye-A)A-F (4

{10 {4
okl oo skt U gl ook
EU - f/l {444~
Ve UV
jxy ;mu 1

A o jA(!/do&
> j’A(mu ).

&




ear [UV) = E(0V) - E(0): Efl/) = (- 10 0
EoV)+ E(be)(er)) = (&7) o0
5(4/\= F[Xz—‘/UL] —Pf\/ CAE

< P&y 4] 1+, ()
(WU’\ - (ov[-’l’) =) 5{(/1/)’5()(2“/&)=O

<




K= 19k
g4 ([a2-9) %S

)

A"

~ t‘wﬂ

- [{% r\< M O,Lw(l’oo} r

‘>P[‘X—r”{< m,]:

£(0,7)






F[d‘p225]=P/:(w5’15]‘

p| Fm ¢ B

L pL T & Hra]Alre-nls
- Q) <1-¢(z)- 87

PL#¢ e <
=—£[ S 5'0(9%(1/ 27




Ns‘j >//] R .o m&ae)«j/f JLD ’DMIW‘
Y Y AR X




8[75-: F[['T/c R,“ofﬂ,vzﬂj

—

Y =18 S a4 +14 544§
/ + 14 94 14 0¢] <D 1Galutt -
A «5 )

$= 2,12
. A4 \[EE A I
IE T Vw3 T 7= 10808
n, (0,025) > 0 g5 =
fopiree pum pinndded Moo moranilie,









	Stránka 1: V 11-16:15
	Stránka 2: V 11-16:23
	Stránka 3: V 11-16:29
	Stránka 4: V 11-16:35
	Stránka 5: V 11-16:42
	Stránka 6: V 11-16:47
	Stránka 7: V 11-17:16
	Stránka 8: V 11-17:21
	Stránka 9: V 11-17:29
	Stránka 10: V 11-17:33

